



som legger til tre brøk

StudentName: _____

ExamDate: _____ ExamScore: _____

$$\frac{1}{8} + \frac{3}{6} + \frac{3}{9} =$$

$$\frac{5}{2} + \frac{3}{2} + \frac{5}{7} =$$

$$\frac{2}{6} + \frac{4}{9} + \frac{6}{9} =$$

$$\frac{3}{4} + 1\frac{1}{3} + \frac{2}{9} =$$

$$\frac{4}{7} + \frac{7}{5} + \frac{2}{3} =$$

$$\frac{2}{8} + \frac{3}{9} + \frac{1}{7} =$$

$$\frac{4}{5} + \frac{2}{4} + \frac{7}{4} =$$

$$1\frac{1}{6} + \frac{6}{4} + \frac{4}{5} =$$

$$\frac{6}{4} + \frac{1}{4} + \frac{7}{6} =$$

$$2\frac{1}{3} + \frac{6}{8} + \frac{2}{9} =$$



som legger til tre brøk

StudentName: _____

ExamDate: _____ ExamScore: _____

$$\frac{1}{8} + \frac{3}{6} + \frac{3}{9} = \frac{23}{24}$$

$$\frac{5}{2} + \frac{3}{2} + \frac{5}{7} = \frac{33}{7} = 4\frac{5}{7}$$

$$\frac{2}{6} + \frac{4}{9} + \frac{6}{9} = \frac{13}{9} = 1\frac{4}{9}$$

$$\frac{3}{4} + 1\frac{1}{3} + \frac{2}{9} = \frac{83}{36} = 2\frac{11}{36}$$

$$\frac{4}{7} + \frac{7}{5} + \frac{2}{3} = \frac{277}{105} = 2\frac{67}{105}$$

$$\frac{2}{8} + \frac{3}{9} + \frac{1}{7} = \frac{61}{84}$$

$$\frac{4}{5} + \frac{2}{4} + \frac{7}{4} = \frac{61}{20} = 3\frac{1}{20}$$

$$1\frac{1}{6} + \frac{6}{4} + \frac{4}{5} = \frac{52}{15} = 3\frac{7}{15}$$

$$\frac{6}{4} + \frac{1}{4} + \frac{7}{6} = \frac{35}{12} = 2\frac{11}{12}$$

$$2\frac{1}{3} + \frac{6}{8} + \frac{2}{9} = \frac{119}{36} = 3\frac{11}{36}$$